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1 [BklR @5 & CC 18 36 42
2 A B =JRCC 19 37 42
3 | XE FA& EiEGC 80 41 39
4 1 55 #25K CC 80 40 40
o [FHE —F RECC 80 40 40
6 |ElH #— RECC 80 37 43
T |k & EiEGC 80 37 43
8 |&AXR &2 &1L CC 81 42 39
9 IEE FAR A $CC 81 41 40

10 [fEik BT EI1EGC 81 40 4
11 [ —3% RECC 81 38 43
12 |§H =R f&1LIGC 82 42 40
13 A ¥ Ei#E 59 LHCC 82 40 42
14 | EE FA A5k CC 83 44 39
15 |BkH H— EiECC 83 44 39
16 /M iE— A3#CC 83 43 40
17 |50 M2 =IRCC 83 42 41
181/ HE EIECC 83 42 4
19 |5/ &EE #1106 83 40 43
20 |BH % RECC 83 40 43
21 |58 BT A FHCC 83 40 43
22 |[ihK BE A3#CC 84 42 42
23 [ith 485 =IRCC 84 42 42
24 |/hE  BhER FE&CC 84 42 42
25 [ AR EH =IRCC 84 41 43
26 [=/R IEFN Ei& 59 L&HCC 84 41 43
21 |EXF 8 EiE 59 L&CC 84 41 43
28 |{iy E1T EiE 59 L&HCC 85 44 41
29 [FH F— f&1LICC 85 44 4
30 |KE S A3#CC 85 43 42
31 [T EE 27k CC 85 43 42
32 [MhR Hx EES9 LECC 85 42 43
33 |1 #B EiE>9 L&CC 85 4 44
34 [ B #710GC 85 41 44
35 [\HH & EE>9 L&CC 85 4 44
36 |9H —H A3#CC 85 40 45
37 |¥RE i & 1LICC 85 40 45
38 [fEE f@— f&1LCC 85 38 47
39 |#HE %) =IRCC 86 45 4
40 | K& =F EIECC 86 44 42
4 [kt BE RECC 86 44 42
42 |58 15 EIECC 86 43 43
43 |sPhE A =JRCC 86 41 45
44 |BK Z1E A3#CC 86 39 47
45 |HEm  —HR EiEGC 81 46 41
46 | B0 A FHCC 817 45 42
47 |#EHE EA #hCGC 817 44 43
48 A FHX EBGC 817 43 44
49 [FEAR HEH A 3#CC 81 41 46
50 |FIF = 1227k CC 817 41 46
51 |%7H HiE #hCGC 817 40 47
52 [EZH £FE f&1LCC 817 39 48
53 [EH #X #a5K CC 88 46 42
5 1Al ER Ei&CC 88 45 43
55 |3k FEth E1EGC 88 45 43




FOMLEBRIYN 777 VRFIE HEHMERFTERS

B f B :2019404F04H
BB WKAVEI—DST

I iz K4 [ TOTAL ouT IN
56 |&SH IF&] £ RCC 88 44 44
57 [T —H & 1LCC 88 42 46
58 [l % RECC 88 41 47
5 |#E FME f&1LCC 89 50 39
60 |SFX HE & CC 89 47 42
61 |f/R #0145 #A5KCC 89 45 44
62 |t FRAER EiEGC 89 44 45
63 |tHA #= #7CGC 89 43 46
64 [(BH HE £ CC 89 43 46
65 [FtE BEF a5k CC 89 42 47
66 [B# % =IRCC 89 42 47
67 |AAH E4 &1L CC 89 40 49
68 | HR 27k CC 90 49 41
69 [hikE F0{E f&1LCC 90 43 47
10 |#Ek S ELT=RC0C 90 42 48
n|FERE H= FE&RCC 90 41 49
n 5% =z EiEGC 90 41 49
13 [HR #®# JE=PELY 90 40 50
74 |48 iz RECC 91 49 42
5|1 BA E1X=RC0C 91 49 42
16 | AR X& RECC 91 48 43
17 |#&#k %17 FEHCC 91 46 45
18 |k B f&1LIGC 91 46 45
79 |B&H =R #7710GC 91 45 46
80 [iA%F pEsE =IRCC 91 45 46
81 |Nig e A3#CC 91 45 46
82 | K& %] £ RCC 91 44 47
83 [l Bk EiEGC 91 44 47
84 |SE& T Bl >3 L&CC 91 44 47
85 |#HFH %083 EI&CC 91 39 52
86 |HLE % EiE>9 L&CC 92 44 48
87 |NIE &R A5k CC 92 44 48
88 [NiE R =IRCC 92 43 49
89 |EH ME EiEGC 92 43 49
90 |#HE FF EiEGC 93 52 4
o1 [hE EE# EiE 59 L&HCC 93 51 42
92 |#IR  FHiE EiEGC 93 48 45
93 [=iE E8 A3#CC 93 43 50
9 |ZXx HBIE Ei&CC 94 54 40
95 [#ElR EX £ RCC 94 48 46
9% |=& FH 27k CC 94 48 46
97 |ER & A3#CC 94 48 46
98 |fEIL HRE #25K CC 94 48 46
99 A FiE =IRCC 94 44 50

100 |Zeid  thtdt #25K CC 94 38 56
101 [/ fiRth =[RCC 95 52 43
102 [HH %k EiE 59 L&CC 95 51 44
103 [EAR frah Ei#E 59 L&HCC 95 48 47
104 [HE =X =1+ =RCC 95 47 48
105 [KE EE E+=RC0C 96 53 43
106 |f2H k& f21LCC 96 51 45
107 |EW 5= RECC 96 47 49
108 |FalR =A% A3#CC 97 50 47
109 l&& &L RECC 97 45 52
110 |B&H B0 EiEGC 98 53 45
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111 |ME B f&LLCC 98 51 47
112 fRIR  FE#e A FCC 98 49 49
113 |2l & EE3EGC 98 49 49
114 |ingE Bk A 3CC 99 50 49
115 || & EE 386G 100 53 47
116 |giH HR= FEJRCC 101 52 49
17 |#E A% A CC 101 52 49
118 |B&EH HiA #H1CGC 101 44 57
119 [#E 5= A7k CC 102 49 53
120 |WbEH 2% A5k CC 102 49 53
121 % K= HECC 102 46 56
122 |5 B& A5k CC 103 51 52
123 |Rgk @48 =+ =%&CC 104 48 56
124 |&HI_EF A 3CC 105 53 52
125 |gkH & 8 GG 106 53 53
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